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INSTRUCTIONS TO DANDIDATES
L. Write your name,admission number and school.

2. The paper contains two sections: Section I and II
3. Answer ALL questions in section 1 and ONLY FIVE questions from section II.

4. All working and answers must be written on the question paper in the spaces provided

below each question.
5. Marks may be awarded for correct working even if the answer is wrong,

6. Negligence and slovenly work will be penalized.
7. Non-programmable silent electronic calculators and mathematical tables are allowed for use.

8.  This paper consists of 15printed pages. Candidates should check to ensure that all
pages are printed as indicated and no questions are missing
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TION 1 (50 Marks .
Answer ALL questions from this section
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1. Evaluate: 2——1——“—‘5
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2. Using a ruler and a palr of compasses only, construct a rhombus PQRS such th =6 cm
and angle PQR = 135° hence measure the sKortest diagonal. (3mks)
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3 Sow/he following inequalities and
hence state the integral values of x
7X-4<9x+ 2<3x+ 14

Epe = -0l

represent the solution on a number line and

(4 marks)
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5. Solve for x in the equation.
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:{k 6. It would take 15men 8days to dig a trench of 240m long. Find how manyda s 1t ‘__ 1l

take 18men to dig a trench 360meters long working at the same rate.
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12. The figure below shows triangle ABC and its image A’B’C’ after a clockwise
rotation. Find by construction
a) The centre of rotation :
(3 m
b) The angle of rotation
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13. Mutua bought 8 pairs of trousers and six shirts at Sh, 4160.

Had he bought twice as

many shirts and half as
each};tem_ many trousers, he would have saved Sh. 160. Find the cost of 4
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14 Tie raantie
vk rr?ec:fr}cﬁ];e::s have base area of 750cm? and 120cm? respectively. Calculate the
. he larger container in litres given that the volume of the smaller container is

400cm3, # |
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15. PQRS is a cyclic quadrilateral and O is the center of the circle. Angle QOS = 150°.
S

Find the size of:

(a) Angle QPS SRS = <  Bor (2 marks)
s+ L@pPS = (%2
LR ps= 05
(b) Angle QRS gl 20 (1 marks)
SORS = A5
(3 marks)

16. Simplify the following expression.
x—3 3x=9

x+3 x2%2-9




17.A village Q is 7 km from village P on a beari.ng-o-f 045°. Village R is 5 km from vill

L St
bearing of 120° and village S is 4 km from village R on a bearing of 270".

a) Taking a scale of 1 m to represent | Km, locate the three villages.

b) Use the scale drawing to find the:

i Distance and bearing of the village R from village P.
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ii. Distance and bearing of village P from village S.
L‘)*g'rc e S58% Wi T o
Bowms = QHI°
iii. Area of the polygon PQRS to the nearest 4 significant figures
(HivEDivide-the figureintetwe-triangles| (3 mks)
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